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— For larger numbers we regroup
Addition | horizontally (Partitioning) Y2 and beyond

20+L‘25+£{7\1 .

: 20+40 =60 -
Bead string
5+7 =12 -

Column addition with exchange

Number line (Manipulatives and then onto box ¥3 and beyond.

jottings) Exchange

Wit~ Answer ~box/row for
A —

S box ™~ exchanges/
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regrouping

Bar model representative

Addition starts by adding objects
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Develop the use of empty number line with

Subtraction starts with taking away Subtraction

Emp-‘-y number‘ calculations that bridge 100:
lines that [

objects

Number line (Manipulatives and then onto
jottings)

T
2

EmpTy number line (jo’r‘rings)
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31 32 33 34 35 36 46

bridge 100

189 190 196 216

Count on fo find small differences:
+2 +30 +1

Y aY AN A

198 200 230 231

For larger numbers regroup
horizontally (Partitioning)

90 8 0
-30 5

60 3

Then vertically until we eventually progress
to exchanging (Column method for exchanging)
Y3 and beyond 5 13 1
BN 6 7
- 26 8 &
3 7 8 3




Grid method/Area m

| Multiplication Grid method .
X 30 ‘6

First, we group objects as a
representation

Place value chart alongside
short multiplication (Y3-4)

Hundreds

4 120 24 2 4 (6 x 4)

120 (30 x 4)
144

0000000 H

"
000{0000 3 Short multiplication (Y3-4)
000{0000| X '
0000000 1 - L

: : : 3 4 Exchange
0000000 11710 row/box
0.7/ X 2 /

Number line and onto an 68
empty number line to
show as repeated Long multiplication (Y5 and beyond)
addition (manipulatives ThH T O HTRTTRThH T O
and jottings) T Tale

6(1 x 6)

Partitioning + 93 gﬁ) Dxx:?)m

10 6 method 1500(30x50)
Ixz I x2 / \ T8 3 86

20 + 12 =32
(Expanded version)




Division begins with sharing

Division | Chunking

-50 (10x5)
Division using bar models = 10+4=14

(4 x5)

3
Bead strin

How many 5s have been subtracted?
14 sets of 5, with 3 left over.

I.I. Answer: 73+5=14r3

12+3=4

Sharing using arrays Partitioning to aid
@@@@ division Y3 and
beyond

Number line and onto an empty number line to
show as repeated addition and subtraction e

(manipulatives and jottings) Short division Y4 and beyond

Example without remainder Begin with divisions that divide equally with

Move onto divisions with a remainder.
ot AAAAAAAA =8 noremainder
Ask “How many 5s in 407"
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